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Dividere numeri interi con zero Nome;
Risolvi ogni problema. Risposte
1) 2) 3)
41838 9812 2(4109 L
2.
3.
4.
5.
4) 5) 6)
2l815 4(522 6962 6
7.
8.
9.
10.
7) 8) 9
41442 9633 41923 1.
12.
10) 11) 12)
9453 6(724 9724
. 1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividere numeri interi con zero Nome: Soluzioni
Risolvi ogni problema. Risposte
1) 2009 2) 090 3) 2009
4@ ol 12 2419 1 209r2
8 0 4
03 81 01 2 0r2
o 8 1 o
38 02 19 3 209r1
36 0 18
2 2 1 . 407r1
5 130r2
4) 407 5) 130 6) 160
6. 160r2
2|815 4|52 2 6/962
8 4 6
01 12 36 7. 110r2
0 12 36
15 02 02 8. 70r3
14 0 0
1 2 2 9 230r3
10. 50r3
7) 110 8) 070 9 230
11 120r4
404 42 9|6 33 41923
4 0 8
04 6 3 12 12. 80r4
4 6 3 12
02 03 03
0 0 0
2 3 3
10) 050 11) 120 12) 080
9453 6724 9724
0 6 0
45 12 72
45 12 72
03 04 0 4
0 0 0
3 4 4
- 1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# Dividere numeri interi con zero Nome:

Risolvi ogni problema. Risposte
407 rl1 209 r1 70 r3
110 r2 130 r2 90 r2 1
230 r3 160 r2 209 r2
2
1) 2) 3)
418 38 9(812 24109 3
4,
5.
6.
7.
8.
4) 5) 6)
2815 41522 6(96 2 0.
7) 8) 9)
414 4 2 9(/6 33 4192 3

- Semplificato 1-9 |89|78[67]56|44[33[22]11] 0 |
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